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@ _Gf e P is the prrssure, ¥ i3 distance ky 19

» Coneider the equation log

PP k6 _
B.ann constant and 8 (s the temperature The dimcnuu_m_ of [ is 03y 2
(A | MO0 By MLT" ) ™MoLr‘? (D) M
| swa e log, & - mem,zum,tBHcMleaﬂm.
“ pp k 8
2 €3 TS %2 o
. To find the density of a metallic wire, we have mass m = 0-310 003 g ndh:‘:
r-05¢+0 005 mm and length [ = 6 £ 0 06 cm. Then percentage error in this measurcme
of density wall be P
(A) 2% (B) 3% [H (C) 4% (D) 5%

o wrea TrEe Wy ReT® W M A m =0 3:0 003g, WP r =0 5: 0 005 mm LW
g - 610 06cm, v Yy R weam 2 ¥

(A) 2% B) 3% (C) 4% (D} 5%
8. a and b are two vectors _nme-ngkbctwtcn&'xbmdbxaﬁ
(A) 90° /" (B) 180" (C) 60° D) ©
g wa b oS wwe (5% OIR¥ g x ‘
(D) O°

"(A) 90°

A motor car 1s moving at a constant speed along a hornzontal circular road. The graphical
representation of the eastward component of its velocity versus time 1s

o 3 m (B) Lt/ l/
|
-~ Lw., | A
(9 Jvavs
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B. Two vectors A = S{ + 7} - 3k and B-2+ 2] - ak are perpendicular to each other when ais
(B) +4 ") -8 D) +8

(D) +8

. The ratio of distance covered by a freely falling mass 1n the 4th and 5th second of its fall wall
.__.‘!,H,,.,u 1 fr ! J
(A) 4:5 B) 5:6 (C) S:7 tu)_‘i'r:q |

| Wﬂ:eﬂwwfwwmemmmiwwwm
'\ 4 S By _,'?_3 6 C) 957 }D) T: 9
(A) 4 (B) (C) e

. A honzontal force of 100 N s applied on a cube of mass 10 kg kept on a honzontal surface. If
the coefficient of kinetic friction between the cube and the surface is 0 5, acceleration of the

cube 18 (g = IUms %)

(A) 2 5ms * (B 5ms “ (C) 15m=l“2 (D) 10ms™2

o

1 GqsTie oM HWE 10 kg AN 49f% W B+ 100 N Wi?ﬁ4 U e LY e e

' ofdr winmears 0 S BV V4 :ﬁ&l’{ m YA (g= 10ms ¢

ﬂ
(A) 2 5ms “ , (B) S ms ? _/ (C) 7 Sms : \_/ﬁD(lOmt'z

[
[

ﬂ
A toy gun 1s operated by a spring of apnng constant k. When this spring 1s compressed by a
distance x and a buliet of mass m is thrown vertically upward by it, the maximum height the

'
bu‘lrt af*m.ns |9

p N\ 2 2
(A kf' (B) *i (C) 2kx ~ (D) 2kx~
[ mg / gmw mg 3mg
H =
1 gafh o Tvran (Rmiee s k ﬁmﬁm x O gt o1 m 33 <o sfce wH S
| fira §p# afefl srdw (3 Swen B3y w1 ™ |
| kx? hx 2 2kx? 2kx 4
| (A) B) C) — (D) ——
|J mg img mg 3mg
1
~Series A/ 1 3 |p:r_c.l
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0lm and 0 3 m
9. Two circular discs have same matenal, same thickness but md",

- . BRL
respes lively The mtio of their moment ol mertia around their owWn ny

“(A) 1 B By 1 27 () 19 - (D) 1:3
» O 1lm 6 0 3Im amandiai=l :ﬂ'} vrafde Doy 4 can ®Wuw | 219 {46 frw s Fe WIT sl
MTN[ W W
(A) 1 81 By 1.27 ) V9 (D) 1:3
—
10. How long a | kW engine will take to 1ift a body of mass SO kg by 40 m? (g~ 10 ms~?)
{;u 20 & (B) 10 » (C) 200 = (D) 5 =

yo | o MU WEE 1 kW E¥ S0 kg St &30 Tgre 40 m oA P YT v W (A bt

(g lOms"'l

(A) 20 » (B) 10 s (C) 200 s D) S s

11. The radius and mass of a planct are respectively 2 umes and 10 imes larger than that of the
carth. If a stone weighs 80 N on the earth, its weight on that planet w:li be

(A) 1200 N (B) 160 N (C) 120N i (D} 60N

931 3} mrsa AP & 54 ¥R T TAHCR 2 87 4 10 g1 AW | qofd e gw €A 80 N
e &% u7% sfhr awd B2

(A) 200 N (B) 160 N (C) 120N (D) 60 N
B

12. The value of acceleration due to gravity at an altitude R, where R is the radius of the earth, §
(g =9 8ms Zat ground level)

(A) 9,: ms ? (B) 4 9ms 2
v

(C) j 82 ms * ‘D) 2 aS ms?
¥

ya | wfedwrea R TwE, (M0 R W oie@a oy, wfsotw TR TR R (@ g - 9 Bmse™d) l

(A) ":23 ms 2 B) 4 9ms?
(C) ;; ms ? (D) 245 ma™?
H—Series A/1 4
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13. The encrgy required to produce 8 equal droplets from a single drop of iquid of radius K and
surface tension S s

F ey
(A) 4rR?S (B) 2nR‘S (C) nR?S D) RS

yo! ka1 o S bRt cof} wew fiwre cers 8 o waw frs oftre ware et oieD 34

l .
(A) 4nR‘S (B) 2nR3S (C) nR2s (D) zuR‘.s

14. The Poisson's ratio for a metallic wire is 0 5 Due to application of a force, its longitudinal

strain 18 0 03 Then the percentage change of volume of the wire 1s
f\.

(A)) 0% (B) 0-01% (C) 0 015% (D) 0 03%
81 w3l e BTER AN WPTE 0.5, T 2w v wrltn wed RPfe 0.03 e wrafbe wwem
v *faads v
(A) 0% (B) 0-01% €) 0015% . (D) 0-03%

8. If a sphencal pellet of radius r falls through a viscous medium such that its terminal velocity

s Uy, then
~

¢! ramnde gofl [T (e ofl e DR e 1 R av v, W e

(A) vy «r3/3 B) vy =r? (C) vy =rl/3 (D) vp = r?4d

6. A glass container can accommodate 50 g of water at 0*C. How much water overflows if the
temperature is increased to 80 °C? |

0:67x107°/°C: Yoater ® 5-02x107*/°Q

M ogass

, N\
(A) 500 mg B) 1 g (C) |12 g D) 4 g
/

F

. ~
ot @34 N2 0°C @I SOg WM WA | 80°C SRIZY 3 wH IRE TR

& gags =0 67 % 107%/°C; yopier =~ 5:02x 1074 /°C]
4
(A) 500 mg B) | g C) 2g L4g
Series A/ 1 S ‘.‘ P
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17. When S g steam at 100 *C and 25 g ice at 0 °C is mixed in an insulated container, “Mll
lemperature of the mixture o

(A) 30 °C (B) 20 °C (C) 10°C (D) O *C
N1 100 °C AR 5 g W 8 0 °C TR 25 g 1AV pw ey oA (ger# Remrea FETY Al WY

| (A) 30 °C (B) 20 °C (C) 10°C (D) 0°C

| 18. Work done to increase the volume of a gas by 0 25 m” at a constant pressure 10° Nm 3 iy

| (A) 12.5J (B) 50J

.

_(€)) 250U D) 125%x10% J

3¥1 107 Nm ™2 fom w1 <o RS 0 25 m? wweER :pvfrs 47 pEE A AT XA

(A) 125J (B) S0

—

T 250 (D) A 25x10° J

19. The rm s velooity of the gas molecules 1n a container at 27 °Cis ¢ When its tempcrature 1a
raiscd to 108 “C, the rm s velocity will become

(A) 2C (B) 1 732C (C) 1127C (D} 1 025C
3» |27 *C TR 4¥f WA 0aq MM WG rmos AN C. 108 °C TRAR WSO rm

sfdzan w72 | :

A) 2C B) 1732C (C) )«1’270 (D) 1 025C

0. A blackbody of radius 10 cm radiates 400 W at 600 K. If another blackbody has a radius o
20 cm and temperature 300 K, it will radiate a power of

(A) 1600 W (B) 400 W {'\IC)_ 100 W (D) 25 W

10 cm AP¥E 490 Pway 600 K Swe 400 W e {41847 Wi 1 wwm qaf pwaye gom
20 cm SO TEE 300 K 5w of fHfene wa wn

(A} 1600 W (B) 400 W C) )tf) W (D) 25 W

Senes A/ 1 6
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21. The equation of a travelling wave 18 y = Ssinn(x - 50t), where x. y are tn meter and ¢ is in
scconds Then wavelength pf the wave s

(A} | m f/;ﬁ) d m (€} 40 m (D) 20 m

231 ot verzarwa MWieaq y - sann(x - 501), A x, y AU g1t 1 OVETE T WIR, A sarwe
zewing 2.4
(A} I m B) 2 m (C) 40 m (D) 20 m

22. The acceleration of a particle executing simple harmonyc motion is 12 cm/s2 when its
displacement i3 3 cm The time penod of oscillation is

’*(Al In s (B) :l €) 4 (D) 1s
ai}}mmm_g«3c_mfaﬂﬂmm1ﬂn—-hw12cm/s’mm:.mem
Ma . (B) gl (C) 4 D) 19

23. ¥
c
E
2 \ AN, %
%}‘T_j..n‘; /\a_;_
T 1 ll't [
\/ ‘*\./,; — [ (ime)

of the following equations 1s compatible with the figure above?

AUPH s!nfwr -+ H) f;. i (m .*\I_]t"t"{ cos|wt + 8) /

(C) A e™ cotiet +8) TO) A,e tan(wt + 8)

-9

—> x ([displacement)
=
e
N

—> t (ime)

Gt o Moo Yoros fizaq >ew s 2

(A) Aot“ sin fo! + ) (B) Age ' cosfot +8)
() AgeMcotfwt +8) D) Age ™ tan(et +6)
|~ I
I—Series A/1 . * 7 [P.T LI
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. The Laplace’s equation in connection with the velocity of sound 1n gas .

: P
» ) 1P pr (D) v~
(A) \ p i IB]b 1'|' p (€) JT yp
lu Vs zux w2 reay o g v
‘w0 B) - (C) { (P *E

5. A person 1s moving toward a stationary sound source with a velocity one-fifth that of velocity
of sound In air Percentage incrcase of apparent frequency hecard b}' the person I8 1

e,

(A) 5% (B} 10° —’ﬂ[c;m‘ 20% (D) 40%

rm *ua TS AT mrua SIGLIE L B DI I e aaf fom "% - S fre glecw TN £ atma
T TR e weew Ii% e T

(A} 5% (B) 10% (Cyf 20% (D) 40%

L)
\.

. When a point charge of 5 C 13 moved by a distance 0 5m 1in a uniform clectne field, work
done 18 10 J The potential difference across the distance 1s

(A 1V ( 193)2 v (C) 4V (D) 10 V

Et] scﬁ-,mmzc‘mmfaﬁmth-Smmm 10 J 7% SATT T | oMy L2 Ieaq wTEN WA

l A) 1V B) 2V €} 4V (D) 10V

1 37. The clectnic ficld at a distance x from a point charge qis E. When another similar charge is
placed at a distance 2x, force experienced by that charge is

E E
N E gk o |
A 2 B = 9 w4_
r "\1

I:;.“}“ﬂ, 4 el g (W0@ x waTy ofperwTae wmarwie Wﬂ&imcmhﬁﬂmmm
r/-mmmﬂmwmimmﬂ |

E E E
Al — - it
f 2 > 2 © 4 l“(ﬁi =
r-Scncu't/l K
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the ume penod of oscillation

e e
l d 1 o . ‘- -9 *.'q
:
-,

Qa3 T (TeEn fMeze g Twe wfve Fra anpnie 50 weEfie sarem wEa e Seeaiba
A0e FAN (veU W gar <3 (Wb BRI *° vy oA T 4 Ty A IS NS N €A

(wwaba (Rage

(A) mvfaafie wela (B) 3%
(C) @3 (D) ™2
29, ”3 uH
3 uF

Arl' ] *—“——”- - J - 4

Ly

3 uF
The cquivalent capacitance between AH (.4 18
(A) |5 uF (B) 4 wF (C) 3uF
t'] 3 uH
,_ S
Ap—— B
3 uF
*Z
3 uF

AB 4098 300 P chm)m){i

(B4 wF Q) AF

l-l Series A/ 1 Y

(A) 5uF \

(A) will not change (B) ) will increase
(C) will decrease (D) will be standstill

The bob of a simple pendulum is given static C-';Wna"i; hung as shown at the centre of
the upper circular plate of the two parallel metallic horizontal plates. If the *ve and -ve
terminals of a small battery are now connected to the Upper and lower platcs rupecw,m

|

(D) 2uF

Wi 30

| B

o
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30. £} the diameter of moon is 3474 km and Ii’_}n‘ldfl'\“d as n ‘-undljctlﬂ‘ .thfﬁ; lhfﬂ lt.

Capacitance s

(A) 911 uF (B) 711uF
(C}) 193 uF (D) 97 uF

X
o JBTHR AP 3474 km «xt S8 oofd M@ e s FEm, O 0IRY WA

J 911 uF (B) 711 uF
tc; 193 uF I (D) 97 uF

31.

A uniform thin wire of resistance R is bend to form a complete circle. The points A and Bon
the wire make 60° at the centre. Then equivalent resistance between A R, will be

2R /7N SR
(A) B) -
7 T
7R 3R
C) — X

)|

R corna @3l s wa ware 4 pfqaen om A 8 B ltvw oy 60° (919 Sevm sxm
AB-£4 (534 PWIITY R, ., ¥4

2R SR

w = B)

7R IR

(C) 36 (D) <
__!H—Sen'eu\/l 10
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| It \Ln Q |
- ]

The resistances applied to the arms of a Wheatstone bndge P, Q, Rand Sare as shown inthe
figure above The condition for achieving nuil 1%

2r

¢ ir+ 5]2 ¢ r+s)

P (r+s) P r+s)?
— e N s ‘D] - 2 S
7 Q rs Q rs

gt 38w Prsa P O, R 6 S s Boyrna man cnn o wrarw offdfibs waww 8 ¥
1 1L - - I Fua ~ i + ! - i - y

)
» ' : 3 Lrs
(A) I r‘ 157 g =
& ir+s)” v  (r+3)

i

(Cy - | e
| f} Q rs . LIS

13. When two wires of same matenal but radu r and 2r respectively are connected in u:nej toa
d ¢ supply, current measured is Jamp. If dnft velocity of electrons in the thinner wire 1s v,,

then corresponding value in the other wire will be https://www.tripuraboard.com -

¥, |
a B) ' -4 c) ‘4 D) v

(A) 8 3 2

2e1 &8% Boreize 2o At STAR APNY WA r &3t 2y, U 1 oW Ay <3 4978 B Wy I
Sfsesfs A& W [ amp. W oA WA W S o, we ool wne whdn o w1

) A D) v,

Vg
(A) ~ (B) 2

8

>ia

1{—Senes A/1 11 |PTO
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id 8 with & velocity

fie
'34. When a particle of mass m and charge g enters & uniform "‘:‘:iﬂﬁm path of time period
. perpendicular to the direction of ficld, the particle follows & € B
) = < . = O po
JA) B (B) aB 2nm

BTA AT WM R

Py - L =R R Arerar '_ﬂ !; Fq e
m 2TA™E ol i*“‘: R g LQ‘G IRy --‘."‘--' | )

F aff TEHT TN LT TE | A% TETETR «REATE T B
2zm . mu © qB (0 mu
\.«n (B) 2nm |
ql3 q8

38. A galvanometer is converted into an ammeter when

connected in parallel

(A) a high resistance is connected n  (B) a high resistance I8

I' SCTICS -~
(m a low resistance 18 connec ted 1n paralle!

(C) a low resistance is connected in senecs

\
ot §2fd srwenrafaba ursfabiy ofeafds | W

A) TERIZEE (n 0P RO T8 W M w4 (NN YR XN [ W
= — /
(C) wa qx =B > TO W Jorwm o owm e w /L

|
' 36. The magnetic induction at the axial mid-point of a 500-turn solenoid of lengith O Sm is

2.52x10 7 T. Current thmup,h the solenoid 1s
(A) 4A pl 2 A (Cy 1A (D) O-5A

ed! SO0 *MewEN £ 0 Sm -m ool fwargrsa wwe Tview:
Woerars ofde SR W™
(A) 4A B) 2A iC) 1A (D) 0 SA

37. The angle of deflection of a tangent galvanometer is 60" for a current of ‘IS A. l{ the deflectron
' s 30°, then what i1s the current?

(A) 10 A B) 8A ( u:{fissA D) 3 A
';'m aoft braceed sworenariRbiza ISAMH 60" f‘l}ﬂ W AT P I R!m L !
30" Ee? .

(A) 10A (B) 8A 1C) SA D) 3A

A/l 12
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8. The number of turns of the primary and secondary coils of an enl transformer are 100 and

200 respectively. If [, .. . in the primary coil is 1 A, then th corresponding [, ma 0 the

sccondary s
\

(Al 025A (B), O5A (C) 1A (D) 2A
a4t 200. IR e Fo¥e

& el frrdsr avfis ¢ fiSve i oo JwaRd |
lema | A A NIND /02 T WA

(A} 025A (B) 0SA C) 1A (D) 2 A

. -10
The amplitude of magnehc component of an elcctromagnetic tray clhing wave 18 3 x 10 T I

frequency of the wave 13 10 < Hz then amphtude of electric NHield component 18

(A) 3x10% V/m B} 3x10 *V/m
|('l)9hlt13\-m (D} 9%x10 % V/m
}h 1 TGN fpepI®n verwn Ovyeretad e 310 10 T, TR 470E 107 Hz W SHRIwER
TR =28
A) 3x10% V/m B) 3x107* V/m
(C) 9x10 4 V/m (D) 9x106V/m
¢
0. Planc clectromagnetic wave 1s propagating through a dielectrng medium of dielectnc
constant 9 Velocity of wave propagation in that medium is
(A} 3 x 10" ms ™! (B) ;x 10% ma !
&l 5x10% ms : - {D) 10® ms !
6 9 wains pazeq ot Atapfie TR efPeprs verTm Ay Wk | 92 DN O Tarwa wfdaw
L
(A) 3x10% ms™! (B) %x 10®* ms !
(C) 15%10% me™! (D) 10% my™!
I~ Serica A/1 13 |PTO
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e mirrors kept al an angle belween |
nd mirror, total de viation is 240° "“::JI :

41. A ray of light is incident on one ol the two plan
When the ray emits -ncr reflection from the s€co

relation between
42. I refractive index of a denser medium with respect to air 1s i, then 'hie

pund::nucnlmglvcﬁfh

- 1

‘ i -l_l_ dmp—-
M.];;;ﬂr-nm . an-lu

43. Power of two lenscs are +12D and -2D respectively. When these two lenses are kcpJ
side-by-mde, focal length of the system will be

(A) 12 cm L(Bl /10 cm ) ¢ cm (D) 1 cm

O BIE TOFE +12D 4R -2D; ST NI WO v Owaila crrenitvd w3

(A} 12 cm \\W 10 em ) 6 cm (D) 1 cm

}H—-ﬂlﬂn A/l 14
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. i LIT ! llﬂ‘lc of
44  The refractive index of the material of an equtlalcrll prism is J3. The mniumun

deviation will be |
D e N 90°
(Al 30° (B) 45° () 60° (D)

bo 2l e fwcaa Tomain ofdomme (3 1 afd wey ered pRcE §N
) 90°
(A)/30° (B) 45° jor 60" [ (D)

1 . = 'lm tmn
45 1i x 15 the path difference between the rays in making a constructive intericrence '

‘l\] X = NA (B' — Qﬂ . “%
' 1A
€} x = 'g (D) x -[ru 2]-2-

¥ "ﬂﬁu afesTam cwa wrEe T w49 x W, T3

__ \
/“) '} - nA ‘ ‘B) X = Qn « ni
] 1\
n - -.)..
(C) x "3 (D) x ['HIZ ;
—
46 !7a. s the Bohr radius, then radiwus of nth orbit of an atom of atomic number Z wall be
L ann \ t;lc,ﬂ2
907 B) 20° © 5 D)) =7~
| rl_" n
> e ca amn¥ o ¥ Z A Fawfaf=t 3l N n SR ST Yo¥ WA
) - & n
BT Y 04 B) -0 (C) a;
n* n

47. ) u (a.m.u) is equivalent to

(B) 0511 MeV
( (D)) 931 MeV

(A) 0931 MeV

(C) 746 MeV

Hl\lu‘mam)m

o (B) 0 S11 MeV
A 0931 MeV -
(C) 746 MeV (D) 931 MeV
ri——Series A/l 15 | P 1
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' ? t1cC wave
_ . ( an clectromagne
“ The work function of a metal 1n 4 OV the hlghﬂlt \&u\.ckﬂulh 0

that can emit phnuwlﬂ tron frt:m this metal s "” 1140
(A) 155 nm " (B) - 310 nm (C} 620 nm

. ;
. r m
Sy £L9L va PYETYPS 4 OeV. (B ‘Hﬁ(ﬁ “’ﬂ[q L 1 H'm 3 W ll I Im

4 ""..‘! & W

D) 1240 nm
(A) 155 nm (B) 310 nm (C) 620 nm (
rs
49 The value of B for a transistor 1s 99. The value ol’u for this transisto o
' ®) 01 lcﬂ 0 99 (D) 1
&% ¥ 99, €% GIHWGITT o- 4@ T4 TS
(B) 01 (C) 099 (D) 199

e — il

—

The above figure demonstrates a logic gate which 18
(A) AND (B} OR

(C) | NAND (D) NOR

(B) OR

(D) NOR

PH—Sernies A/1 16
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